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By Pythagoras’ Theorem, 

𝑐𝑐2 =  𝑎𝑎2 + 𝑏𝑏2      

     =  302 + 402 

     =  900 + 1600 

     = 2500 

∴ 𝑐𝑐 =  √2500 

       = 50𝑚𝑚𝑚𝑚 

By Pythagoras’ Theorem, 𝑐𝑐 2 =  𝑎𝑎2 +  𝑏𝑏2      

∴  𝑎𝑎2 =  𝑐𝑐2 −  𝑎𝑎2 

     =  1002 −  602 

     =  10000 − 3600 

     = 6400 

∴ 𝑎𝑎 =  √6400 

       = 80𝑚𝑚𝑚𝑚 
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By Pythagoras’ Theorem, 

𝑐𝑐2 =  ____2 + ____2      

     =  ____2 + ____2 

     =  _____ + ______ 

     = _______ 

∴ 𝑐𝑐 =  √______ 

       = ______𝑚𝑚𝑚𝑚 

By Pythagoras’ Theorem, 𝑐𝑐 2 =  𝑎𝑎2 +  𝑏𝑏2      

∴  𝑎𝑎2 =  𝑐𝑐2 −  𝑎𝑎2 

     =  ______2 −  ______2 

     =  _________ − ________ 

     = ________ 

∴ 𝑎𝑎 =  √_______ 

       = _______𝑚𝑚𝑚𝑚 


